1. ™A GlOJEF 817|(2/5k, =&, HXMA)
Z4l:01 03 00 00 00 05 85 C9
HIO|Ef | HIO|E 249 H 2
01 1 [2EFA T4 He| 01-F7
03 1 |7|ls3E 03- Read Holding Register(4x)
0000 2 |AEFEA4X) 0000- A|&F YR|AE A
0005 2 |97] 40 0005- | X|AH 57| 97|
85C9 2 |CRC = AL D E O]|™ HO|EQ| CRC =20l A E

==41:01 03 0A 01 10 01 D2 00 89 00

76 00 87 F7 15

HO[E [HIOIE 29 H 2
01 1 |25 T4 FAa B9 01-F7
03 1 e ZE 03- Read Holding Register(4x)
0A 1 Ho|E ZO| 10Byte
0110 2 |2ZGO|E} 0x0110 = 272 => 272/10 =27.2°C
01D2 2 |&&E4HO|E} 0x1D2 = 466 => 466/10 = 46.6RH%
0089 2 |=EGO|EL 0x0089 = 137Lux
0076 2 |PM25 0x0076 = 118ug/m3/d
0087 2 |PM10 0x0087 = 135ug/m3/d
F715 2 |CRC =9l AE D E O|™ HO|E9°| CRC &9l A E

2.485% 4 3 SN 97|

54101 03 00 11 00 02 94 OE
HIO|E |HIOIE 29 H|
01 1 |2E5F4 T4 HQ 01-F7
03 1 |7|ls3E 03- Read Holding Register(4x)
0011 2 [AERZEAGx) 0011- OFt 2 QI3 A|RF M X|AEH =A
0002 2 |27 Zo 0002- HX|AE 27§ A7
940E 2 |[CRC=Ool AL D0 E O|F HO|EQ| CRC &9l R E

=41:0103040

0 01 00 03 EB F2

Olo|E{ | HIO|E Mo H| D
0L | 1 |25 %4 F2 99| 01F7
e 1 Pls3E 03- Read Holding Register(4x)
04 1 |HojH ZO 4Byte
0001 | 2 [Rs485 3 ¥4 99l 01F7
0003 2 |lErag 9600bp5/8/1/N(*%{\_l—’_-:—_ T Ax)
*E‘”OlEl'ng, ﬁ%HlE, _LLHE'_l ElHlEE 8/1/N _T'_7g
EBF2 | 2 |CRCEOIAC  [BE ol BIO[ES CRC &l TE

3.485% A HZ

S41:01 0600 1

1 00 08 D8 30

GOEf [BIO|E =29 B2
01 1 |BEFA Fa He 01-F7
06 1 |7|ls3E 06- Write Single Register
0011 2 |A|RFFEA(4X) 0011- A|ZF X|AH FA
0008 2 |diolH 0008 8Ho = FA HY




| D809 | 2 |[crRC ol 3E 2= o] ™ H|o|E{o] CRC =19l B E
4. SMEE HE
S41:01 06 00 12 00 05 E9 CC
HIOJE | HIOIE 49 Hl D
01 1 |[EEFA T4 Q| 01-F7
06 1 |[7|s32E 06- Write Single Register
0012 2 |AERFEAAX) 0012- A&t Y X|AEH FA
0005 2 |diolH 0005- 38400bps/8/1/N
E9CC 2 [CRC=ol AE B E 0| HO|E9o] CRC =90l ZE
4. BroadCasting (™ & FAE DE H2 AIE)
5410 FE 03 00 00 00 05 91 C6
GlolEl [HOlE g bl
FE 1 HECEI|AE F=A  |OxFE(254)
03 1 Jls3E 03- Read Holding Register(4x)
0000 2 |A|RFFEA(4X) 0000- A|&F B{{R|AE FA
0005 2 G| O] E 0005- | X|AE 57 €17]
91C6 2 |CRC =9l FE B E 0| HO|EQo] CRC =90l ZE
S8E =42 Gojg7F 2[HELC (0x01)
41101 03 0A 01 10 01 D2 00 89 00 76 00 87 F7 15
GlolEf [HOIE EE b
01 1 DE FTA T4 H 01-F7
03 1 Il ZE 03- Read Holding Register(4x)
0A 1 G|o|gf Zo| 10Byte
0110 2 |2=0|0|E} 0x0110 = 272 => 272/10 =27.2°C
01D2 2 S E 0| O|E} 0x1D2 = 466 => 466/10 = 46.6RH%
0089 2 |=EO|O|E} 0x0089 = 137Lux
0076 2 |PM25 0x0076 = 118ug/m?3/d
0087 2 |PM10 0x0087 = 135ug/m3/d
F715 2 [crc ol mE @ E 0|A [O|E o] CRC &0l AT
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